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QUESTION 1

On which OSI layers do standard ACL filters operate?
A.2and 3

B.2and7

C.3and 4

D.4and 7

Correct Answer: C

QUESTION 2
DRAG DROP

What is the correct sequence of steps that occur in the communications between the client and server to obtain an IP
address from a DHCP server?

Select and Place:

Step 1

Step 2

Step 3

Step 4

Step 5

Correct Answer:
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QUESTION 3

What is the default OSPF "hello interval"?
A. 5 seconds

B. 10 seconds

C. 15 seconds

D. 30 seconds

Correct Answer: B

QUESTION 4

Which fields are mandatory TLVs in a LLDP PDU frame?
A. System Capabilities and Management Address

B. Chassis ID, Port ID, and Time-to-Live

C. IP Address, Default Gateway, and DNS

D. Port Description, System Name, and System Description
Correct Answer: B

Reference: https://en.wikipedia.org/wiki/Link_Layer_Discovery Protocol#:~:text=Each%20LLDP%20frame
%20starts%20with,and%20length%20fields%20are%200

QUESTION 5

A network administrator is troubleshooting an OSPF routing issue. There are two paths to a destination network from
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one switch. In addition, one path is comprised of four 1 Gb links. The other path is comprised of two 1 Gb and two 100
Mb links. The administrator ran several trace routes and notices that the packets are swapping back and forth between
the two paths.

Which corrective action must be taken on the switch infrastructure to correct this issue?

A. Manually specify the OSPF Router ID on each switch within the path.

B. Break the paths into multiple OSPF areas.

C. Change the reference speed used by OSPF in cost calculations on all switches within the path.

D. Switch all routing protocols to RIPv2.

Correct Answer: C
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